/K

Ve EEon N
(a—— SHELF ANGLE ANCHOR SCHEDULE (SEE SHEET 5) )
ITEM | ANCHOR QUANTITY [ ANCHOR DESCRIPTION MAX. LOUVER HEIGHT [ SHELF ANGLE | SUBSTRATE MIN. EMB. | MIN. EDGE DIST. | MIN. SPACING (3323
G-01 [T SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE SAT1 | 2PER SHELF ANGLE [ 1/2'DIA. S.S. HILTI KWIK BOLT TZ 60" ITEM 34 CONCRETE 31/4' 3 13'0.C. £53
e ING STRUCTURETO SUPPORTTHE SA12 |2 PER SHELF ANGLE | HILTI HIT-HY 200 WITH 1/2' DIA. HIT-ZR | 108" ITEM 34 CONCREE __ [558 |3 1370C. B
G-02 THESE LOUVER SYSTEMS HAVE BEEN DESIGNED AND TESTED IN SA13 |3 PER SHELF ANGLE [HILTI HIT-HY 200 WITH 1/2" DIA. HIT-ZR [ 135" ITEM 35 CONCRETE 53/4" 3" 10" O.C. £2 —
ACCORDANCE WITH THE 2004 IRC, 2006 IBC, AMCA 540 ENHANCED SA14 |4 PER SHELF ANGLE [ HILTI HIT-HY 200 WITH 1/2" DIA. HIT-Z-R 154 ITEM 36 CONCRETE 53/4 3 8"0.C. -gE
LEVEL E IMPACT (EQUIVALENT TO ASTM E 1996-04 LEVEL E), AND FLORIDA ~ [SA21 |2 PER SHELF ANGLE |1/2"DIA.S.S. BOLT 108" ITEM 34 1/4" THICK STEEL |--- 3" 10" O.C. 4o
BUILDING CODE PROTOCOLS TAS-201 LARGE MISSILE, TAS-202, AND SA22 |3 PER SHELF ANGLE |1/2'DIA.S.S. BOLT 154" ITEM 34 1/4" THICK STEEL |- -- 3" 5'0.C. 20
03 T A IONES s, SA31"_ [ 4PER SHELF ANGLE | 1/2'DIA. 5.5 HILTI KWIK BOLT TZ 108" ITEM 36 CONCRETE 31/4° 3 8'0.C. 93
- : " —
INDUSTRIAL LOUVERS. ING:. MODEL SP537DC. INDICATES NON-STANDARD CONFIGURATION. AVAILABLE UPON SPECIAL REQUEST ONLY.
DELANO, MN
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED
G-04 ALL CONCRETE SUBSTRATE SHALL BE MINIMUM 4000 PSI. MULLION ANCHOR SCHEDULE g
G-05 ALL GROUT FILLED CMU SUBSTRATE SHALL BE MINIMUM 1500 PS|. ITEM | ANCHOR QUANTITY [ ANCHOR DESCRIPTION CLIP ANGLE SUBSTRATE SLAB THICKNESS | MIN. EMB. |MIN. EDGE DIST. | MIN. SPACING
G-06  ALL WOOD SUBSTRATE SHALL BE MINIMUM G = 0.55 DENSITY. MAT1 |1PERCLIP 1/2'DIA. S.S. HILTIKWIK BOLTTZ | ITEM 32 CONCRETE 8" 31/4' 61/2" 51/2"0.C.
G-07 ALL METAL STUD SUBSTRATE SHALL BE MINIMUM 16 GAUGE Fy = 33 KS. MATZ |1 PERCLP /2 DIA.SS. BOLT TEM 32 /& THICK STEEL 1-— — T Yo
G-08 ALL STRUCTURAL STEEL SUBSTRATE SHALL BE MINIMUM Fy = 46 KS|. " — : ; o 5
G-09 PANEL WIDTHS AND HEIGHTS ARE LIMITED AS SHOWN ON SHEETS 2 AND 3. MATS" | 4 PER CLIP 1/2'DIA.5.5. LAGBOLT ITEM 33 WOoD i 5172 ! 11/4°0.C. g
G-10 PANELS MAY BE HORIZONTALLY STACKED TO AN UNLIMITED WIDTH. * INDICATES NON-STANDARD CONFIGURATION. AVAILABLE UPON SPECIAL REQUEST ONLY. o
VERTICAL STACKING MAY OCCUR PROVIDING A STRUCTURAL SUPPORT IS €
DESIGNED AND INSTALLED BY OTHERS TO WITHSTAND ALL LOADS -
IMPOSED BY THE LOUVERS. SINGLE NON-REINFORCED PANELS MAY BE JAMB ANCHOR SCHEDULE 8
STACKED VERTICALLY TO AN UNLIMITED HEIGHT. ITEM  [QUANTITY |DESCRIPTION CLIP ANGLE SUBSTRATE MIN. EMB. | MIN. EDGE DIST. | MIN. SPACING s
G-l ﬁf;’:'tfgl'ao'“ OF DISSIMILAR METALS IS THE RESPONSIBILITY OF THE JATT _|2PER CLP | HILTI HUS-HR M6 TEM 31 CONCRETE 23/16" 11/2" 23/4'0C. 8 afl
. n " n " = [
612 THIS LOUVER TO BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND JA12 |1 PERCUP |1/4"DIA.S.S. HILTI KWIK BOLT Il ITEM 31 CONC.BLOCK |2 4 8'0.C. ~ oflS
THE LOUVER IS DESIGNED TO DRAIN WATER PENETRATING INTO THE JA13 2PER CLIP [1/4"DIA.S.S. SELF-DRILLING SCREW ITEM 31 3/16" THICK STEEL | - - - 1" 23/4"0O.C. S_)) = q>_)
ROOM, AND THE ROOM WILL HOUSE WATER RESISTANT OR WATER PROOF JA14  |3PERCLP [1/4'DIA.S.S. SELF-DRILLING SCREW ITEM 31 16 GA. STLSTUDS | - - - " 13/8'O.C. o~ E£|l*
EQUIPMENT, COMPONENTS, AND/OR SUPPLIES. JA15  |2PER CLIP |1/4'DIA.S.S. LAG BOLT ITEM 31 WOOD 4 " 23/4"O.C. o L
&
£
Digitally signed by Gustave _ E
KEY NOTES: PARTS LIST (SEE SHEETS 9 - 12) 3
Gustave Schmoll i meose e ITEM | DESCRIPTION PARTNUMBER | MATERIAL SPECIFICATIONS o
K-O1  SHELF ANGLES ATTACHED TO SURROUNDINGS PER SHELF ANGLE SWisconen, U 0l LOUVER BOTTOM FRAME FRM1384-M 6063-T6 ALUM. 0.081" THICK o
o o e e /e ONLY BE SUPPLEDIFIE e 20180 A0SO 02 | LOUVER SIDE FRAME FRM1386-M 406316 ALUM. 0.081" THICK i
K-10 4"LONG 3 1/2" X 6" X 3/8" CLIP ANGLES ATTACHED TO SURROUNDINGS 03 LOUVER TOP FRAME FRM1385-M 606316 ALUM. 0.081" THICK g
PER MULLION ANCHOR SCHEDULE. 04 LOUVER BLADE BLD1404 6063-T6 ALUM. 0.063" THICK S .
K-11  MULLION CLIP ANGLES ATTACHED TO VERTICAL CHANNELS W/ (4) 1/2" X 1 BLADE BRACE, BOTTOM BLADE, 1" LONG HARPUN9160 6063-T6 ALUM. 0.156" THICK 5l
21/2"SSTHRU BOLTS. V4 7, 12 BLADE BRACE, TYPICAL, 2' LONG HARPUN9164 6063-T6 ALUM. 0.156" THICK o’
"y GUSTAVE L. SCHMOLL ' ' ZH
K-12 ‘Q/EF(T)'CCAL CHANNELS FASTENED TOGETHER W/ 1/4"X 1755 THRU BOLTS AT 6 SR . ﬁ 2] 1" X 5'X 2" X 1/8" CHANNEL CHN1046 60616 ALUM.
K-13 1/4"X 1 1/4" GASKET TAPE APPLIED BETWEEN VERTICAL CHANNELS. ’zf;g. 124202 ,55'/// 22 ],, X 6,,5/ 8,,X ZX ]”/ § CHANNEL CHN10%0 6061T6 ALUM. S %
K21 4'LONG 2'X 2" X 1/8" CLIP ANGLES ANCHORED TO SURROUNDINGS AT 11‘}6;-4ICENS€° N 23 17X 77X 2" X 3/16" CHANNEL CHN1060 6061-T6 ALUM. 2 O
NO MORE THAN 12" O.C. PER JAMB ANCHOR SCHEDULE. \\\Slo',(“'\i_' &5:‘:" 31 4"LONG 2" X 2" X 1/8" CLIP ANGLE HAR9335 6061-T6 ALUM. 2. :? g’ 5
K-22 JAMB CLIP ANGLES ATTACHED TO SIDE FRAMES W/ (2) #12X 1" 83 ASSSS 32 4"LONG 3 1/2"X 6" X 3/8" CLIP ANGLE HAR9365 6061-T6 ALUM. s ol |2 2 oz
SCREWS PER CLIP ANGLE. - 03/13/2019 33 4'LONG 3 1/2' X 6" X 3/8" CLIP ANGLE HAR9366 6061-T6 ALUM. 8 3|5 8|5 s
K-31 E/REETécE:/\\NLﬁ:i)A#N]%E;S] géégg& TO EACH BLADE AND EACH BLADE Firm Number: F-2183 2 15 LONG 4 X &' X 1/2' SHELF ANGLE HARI37E 08176 ALUML Compioncs Offc Siams
K-32 BOTTOM FRAME ATTACHED TO SIDE FRAMES W/ (2) #8 X 5/8" SS SCREWS 35 22" LONG 4'X 6" X 1/2" SHELF ANGLE HAR9377 6061-T6 ALUM.
PER SIDE FRAME. 36 27"LONG 4" X 6" X 1/2" SHELF ANGLE HAR9378 6061-T6 ALUM.
K-33  BLADES ATTACHED TO SIDE FRAMES W/ (3) #10 X 1" SS SCREWS PER BLADE 41 #8 X 5/8" SD PH SM SCREW FAS5042 18-8 SS CW TYPE-A
END. 105 School Creek Trail 42 #10 X 1" SD PH SM SCREW FAS6510 18-8 SS CW TYPE-A
K-34 ;?DF; FFRR/i\\AA/\AE ATTACHED TO SIDE FRAMES W/ (2) #8 X 5/8" SS SCREWS PER RICE éﬁgﬁ??g;% i seaty e 412X 7" SLHWH SM SCREW FAS5135 18855 CW TYPEA
K-41  BACKER ROD AND SEALANT APPLIED AROUND THE PERIMETER OF EACH ENGINEERING Faczopouratoo | (44 (M0 XT HHBOLT W/ WASHERS AND RUT FASS 199 1885 CWCARSCREW
LOUVER AFTER INSTALLATION. : : 45 1/2'-13 X 2" HH BOLT W/ WASHERS AND NUT FAS5185 18-8 SS CW CAP SCREW
The structural drawings contained within this drawing set are not 46 1/2"-13 X 2 1/2" HH BOLT W/ WASHERS AND NUT FAS5189 18-8 SS CW CAP SCREW
intended to be submitted as project specific structural drawings;
however, the drawings within provide an acceptable engineered
design for the SP537DC to resist the specified loading, as well as
IBC 2006. It does NOT include responsibility for:
* Design of air and water infiltration prevention
* The manufacture, assembly, or installation of the system.
* Quantities of materials or dimensional accuracy of drawings. Sheet No.
1 of 12 J




60"

60"

< 60"

UNLIMITED WITH IVM SPACED NO MORE THAN 60" O.C.

SPECIMEN #3

120 PSF DESIGN PRESSURE

4

JAMB ANCHOR LOCATIONS

N2/

TYPICAL FOR ALL SPECIMENS

S = -- e
Y = 3 %3
S i ok
(3 ! < y | €3 .
N v ¢ < B 0o
I = = = =<
= - L R 55
&
S Y- | HJ = 03
: £ ] | 5 £3
io ﬂ ':I_: ¢ 7o\ %
71N O 7} - ><
7 | 1 | 'H v <
v - =
>< =
% i N 3
2 S — —
E D = ; 1O
[e0)
: b
E 'H f §
=
It 2
60" 60" 60" 60" 60" 60" 5
UNLIMITED WITH IVM SPACED NO MORE THAN 60" O.C. UNLIMITED WITH IVM SPACED NO MORE THAN 60" O.C. 8 é i
(N ~ alS
\2/ CL‘g il
O
E [a'4
/N SPECIMEN #]1 /N SPECIMEN #2 5 5
\_/ 120 PSF DESIGN PRESSURE \_/ 120 PSF DESIGN PRESSURE &
=
— S
G/ 679 g
~ o .. 3
Y P ——= 3 &
~ : i
& : SRR
S y. 1 : (e 2 Te
: e I
SN : ) FROM ANY ¥
/X/ DT }/ FRAME SPLICE <§(
i 7 # GUSTAVE L. SCHMOLL% - H
I Y ¢ T Y ~O
; ] b= 124202 o j o~
“J . ) éjf’/ = c X
m LICENSED (NS ) 22
B i T IONAL E¥e 4"LONG 2'X2"X 1/8" N o 5
“J 3 : z SN g CLIP ANGLES, TYP. = 8z B E,
ol - p 03/13/2019 2 3|2 gl 5
f X Firm Number: F-2183 . L]
¢ 2 i umber & Compliance Office Stamp
N] , ALONG CONTINUOUS =
JAMB FRAME 54
B i <
=
i ' L
>
E I FROM ANY CORNER <§< =
o

Sheet No.
2 Of 12

J




SPECIMEN #6

120 PSF DESIGN PRESSURE

(T
1\

—
i} —‘ 72"

Firm Number: F-2183

i

s —
o
r—
I 5 ¢
&
£9
] ]
( 7 } i i
1 (|
i = ' ' FRAME SPLICE
2 )
, 2N & : =
T A —) i 4~ 3
= >< 3
% [ y < =
1 [ E E
] \ 4/ - 5 N 4 o]
h 4 ﬂl NS R%
72” é
" /4 \sm. Q g
72" 72" 72" ‘ O £l
UNLIMITED WITH IVM SPACED NO MORE THAN 72" O.C. ] (=
=
Lo of|
£
\ SPECIMEN #4 N SPECIMEN #5 5 5
100 PSF DESIGN PRESSURE 120 PSF DESIGN PRESSURE S
- - :
o
S
(0]
A A = :
(|
\\\\ ”I 'll \“ ; EO
"\\ \ I, " ‘\ A\
e ST T : ‘ é
. ._4‘91 A
* 4
....................... Y/
JGUSTAVE L. SCHMOLL?
...................... g
124202 ol o~
), ° gff’// s O
a) ICENSE® (NN~ ) z O
- IONAL EX=S ol |3 g N
= AN e s SE |3 2 o
z ' ' FRAME SPLICE 03/13/2019 —N ,é\ é 5 3|2 2|8 fa

N
\ 4

APPROVED SPECIAL SHAPES

NI

NOT TO SCALE

=

~

Compliance Office Stamp

Sheet No.
3 Of 12

J

(T




dh

21

MA11 MA12 MA13

32 | 33

46

42

12

11

04

MULLION #1, 5" CHANNEL

@,

NG

23

MA11/MA12 MA13

32 | 33

46

42

12

1

04

MULLION #3, 7" CHANNEL

1/8" GAP, TYP.

108" MAX SPAN
[am
O B3—©

154" MAX SPAN

1/8" GAP, TYP.

K-10

K-11

K-13
K-31

K-10

K-11

K-13
K-31

22 ——3

MA11/MA12 MA13 E Ej
32 | 33

" O gunfs O

42 gﬁ;

12

11

04

1/8" GAP, TYP.
/2 MULLION #2, 6 5/8" CHANNEL
\i/ 135" MAX SPAN

21 : ,

MA11/MA12| MA13 E Ej
32 | 33

46 O  fip=-o©

42 _Egﬁ_

12

11

04

1/8" GAP, TYP.

~«\ MULLION #4, 5" CHANNEL
\i/ 60" MAX SPAN

K-10

K-11

K-13
K-31

03/13/2019
Firm Number: F-2183

K-10

K-11
K-13
K-31

ILInfo@IndustrialLouvers.com

www.IndustrialLouvers.com

Delano, Minnesota
763-972-2981

Industrial
Louvers, Inc

SP537DC

5" Deep Storm Performance Impact Resistant Louver

Revisions

Date:

RD1089

Checked By:
Drawing No.

03/06/2019
Drawn By:

O
[a)

Compliance Office Stamp

Sheet No.
4 Of 12 J




HF N
3352
§ § MIN. EMBED. ggé“
| SA11[SA12)SA13 = £
45 K-10 K-01 - FolS
O
SA14 SA21  SA22 SA31 ':E
34 | 35 | 36 _8%)
32 ~ - —~ K-11 & £9
46 W E @] W) K13 45 \_
. i — K-31 r _] T LI B K-10
! K-41
03
12
<—) o
o)
" » N 2
C
O
12 2
" =
Q
o ) & Q5
. IQ ol
1/8" GAP, TYP. 21 | 22 | 23 ) y (31 g (g) %
E [a'4
/7N PLAN DETAIL @ SHELF ANGLE " ] o 12 o £
\_5/ ALL MULLION TYPES SIMILAR U &
=
3
04 8)%
K-11 .
SN 2 ”
FE OF T\
e
* l) 11
.*1
....................... *
fGUSTAVE L. SCHMOLL?
...................... g
124202 4 42 O~
‘ég:// K ]0 d (X)
st 1 CENSED N o1 : . z O
SioNaL EX==" K-41 ol |2 2N
ASSSEa R 2 o
03/13/2019 as Rk S
Firm Number: F-2183 " -
Compliance Office Stamp
34 35 36
SA11 SA12 SA13
K-01
SA14 SA21  SA22 SA31
L),
8 O
o Z MIN. EMBED.
Zo
=0 W,
m VERTICAL SECTION W/ SHELF ANGLE
\_5/ ALL MULLION TYPES SIMILAR Sheol No.
L 5 Of 12 J




MA11/MA12 MA13

MIN. EMBED.

MIN. EDGE
DISTANCE

K-10
K-41

©

K-12

K-31

K-31

K-12

<
03
ﬁ
32 | 33 N
12 <~
04 -
< ]
W
42 <
<
21
< 1
ﬁg:\\ ]
~)
21 —
q
12 <
04
42
11
42
01

MA11 MA12 MA13

VERTICAL SECTION SPECIMEN #1

@ IVM W/ 5" CHANNEL SUPPORTS

K-11

— K-10
— K-41

MIN. EMBED.

MIN. EDGE
DISTANCE

MA11/MA12 MA13

(2

03
SN\
X208 T8N
hAg ~-._41132 33
TS l
S oL
ﬁGUSTAVE L. SCHMOLL? 12
124202 %/// 04
&2
LICENSED (2
/ONAL E_::’:'
SN -
03/13/2019 4
Firm Number: F-2183
22
22
12
04
42
11
42
01

MA11/MA12 MA13

VERTICAL SECTION SPECIMEN #2

MIN. EMBED.

MIN. EDGE
DISTANCE

O O

©

©

O O

NG

@ IVM W/ 6 5/8" CHANNEL SUPPORTS

MIN. EMBED.

MIN. EDGE
DISTANCE

K-10
K-41

K-11

K-12

K-31

K-31

K-12

K-11

K-10
K-41

£EER
EES )
O O .0
D0~
285
338
£ c
© s
2
5 56
o— C
=<
Jr—
R 5 ¢
T3
2
£9
=
(0]
>
o)
@]
-}
-—
C
O
o
L
wv
(0]
[a'4
-
(@]
O 3
Q
O gffe
N o .g
™ 2|
L ofll
o €
v O
=
[0)
o
&
S
O
o
w
Q
(0]
(0]
()
o
0
o
z O
o~ £ CC»._
gla I3 < 0O
] = 2
s 35 |3 o o
8 3|8 8|6 a)

Compliance Office Stamp

Sheet No.
6 Of 12

J




MA11 MA12 MA13

03

32 | 33

12

04

42

23

23

12

04

42

11

42

01

MA11/MA12 MA13

VERTICAL SECTION SPECIMEN #3

MIN. EMBED.

MIN. EDGE
DISTANCE

@ IVM W/ 7" CHANNEL SUPPORTS

MIN. EMBED.

MIN. EDGE
DISTANCE

K-10
K-41

K-31

K-31

K-10
K-41

MA11 MA12/MA13

MIN. EMBED.

03
32 | 33
12
04
42
21
Jz,}
¢GUSTAVE L. SCHMOLL?
&
‘é:f/ 21
oL
12
03/13/2019
Firm Number: F-2183 04
42
11
42
01

MA11 MA12 MA13

2\ VERTICAL SECTION SPECIMEN #4

@ IVM W/ 5" CHANNEL SUPPORTS

N

MIN. EDGE

DISTANCE

K-10
K-41

K-11

K-12

K-31

K-31

K-12

K-11

— K-10

K-41

MIN. EDGE

MIN. EMBED.

DISTANCE

ILInfo@IndustrialLouvers.com

www.IndustrialLouvers.com

Delano, Minnesota
763-972-2981

Industrial
Louvers, Inc

SP537DC

5" Deep Storm Performance Impact Resistant Louver

Revisions

Date:

RD1089

Checked By:
Drawing No.

03/06/2019
Drawn By:

O
[a)

Compliance Office Stamp

Sheet No.
7 Of 12 J




o VA\: :
Vﬂé 5
31 Vﬂ\\‘
N
Vﬁ%\\\‘
N
VAE i
. gE

VERTICAL SECTION SPECIMEN #5

SIMILAR AT ALL JAMBS

K-41

K-21

K-22

K-21

K-22

K-32

NOTE:

CLIP ANGLES MAY BE
INVERTED TO FACILITATE
INSTALLATION.

Firm Number: F-2183 ‘0\%

" * o b,
* *1} 02

03/13/2019

MIN. EDGE
DISTANCE

MIN. EMBED.
31
JA11 | JA12 | JA13 | JA14 ) JA15 ﬂ
E -

42 <

T

02

04

L s

JAMB PLAN DETAIL

]
!

s
7 vy

)

04

SECTION @ SHAPED LOUVER

1/4" GAP, TYP.
13/32" MAX.

NOTE:

NOTE:

CLIP ANGLES MAY BE
INVERTED TO FACILITATE
INSTALLATION.

K-21

K-22

K-33, K-34

K-41

LOUVER BLADES, TOP FRAME, AND/OR
BOTTOM FRAME MUST BE WELDED TO JAMB
FRAMES IN LIEU OF MECHANICAL
FASTENERS AT ALL JAMBS THAT ARE NOT
NORMAL TO THE BLADE AXIS.

ILInfo@IndustrialLouvers.com

www.IndustrialLouvers.com

Delano, Minnesota
763-972-2981

Industrial
Louvers, Inc

SP537DC

5" Deep Storm Performance Impact Resistant Louver

Revisions

Description

Date:

03/06/2019
Drawn By:
Checked By:

O
[a)

Drawing No.

RD1089

Compliance Office Stamp

Sheet No.
8 Of 12

J




0.081"TYP.

5.081"

LOUVER BOTTOM FRAME

(P

2.476"

4.919"

LOUVER BLADE

(P

0.290" Qg
0/:
07 H

1 |

5.000"

.000"

1"X 5" X 2" X 1/8" CHANNEL

()

/K

2.840"

0.063"TYP.

2.000"

0.156"TYP.

0.500"
E 4919"
0.081"TYP. 3 - iﬁ/ﬁ;
"5 o ﬁ 0.081" TYP.
N
0.750"
2 LOUVER SIDE FRAME 0 LOUVERTOP FRAME
NI NI
2.299"
0.156" TYP.
1.000" \\ B
2.000" 3.456"
71\ BLADE BRACE, BOTTOM BLADE, 1" LONG /12 BLADE BRACE, TYPICAL, 2" LONG
NI NI
0.250" 0.250"
H 0.125"TYP. H S H 0.188"TYP. H S
§ 6.625" § 7 000"

1"X 6 5/8" X 2" X 1/8" CHANNEL O3

1"X 7" X2" X 3/16" CHANNEL

(2
NI

NI

03/13/2019
Firm Number: F-2183

£EER
EES )
O O .0
D0~
285
338
£ c
© s
2
5 56
o— C
=<
Jr—
R 5 ¢
T3
2
£9
=
(0]
>
o)
@]
-}
-—
C
O
o
L
wv
(0]
[a'4
-
(@]
O 3
Q
O gffe
N o .g
™ 2|
L ofll
o €
v O
=
[0)
o
&
S
O
o
w
Q
(0]
(0]
()
o
0
o
z O
o~ £ CC»._
gla I3 < 0O
] = 2
s 35 |3 o o
8 3|8 8|6 a)

Compliance Office Stamp

Sheet No.

9 Of 12

J




Eh

4"LONG 2" X 2" X 1/8" CLIP ANGLE

NI

%

3.500"

4"LONG 3 1/2" X 6" X 3/8" CLIP ANGLE

1.250" S N 330
5 5 i<
o < — --U')ﬂ
= D(D
S ® T3
S €3
© - o
3 3
et =
- o
5 3 S
Lo (@) " =3 1" 1"
N < 0.375"TYP. ) 1.000 1.000
o
Q
= B .
>
.. O 3
) ) 2.000 ) - 5 =
0.125"TYP. 0.625 0.625 g B 5
. — o E
z o
S 3 S O ¢
S 3) ©0.313" —_ o 4) 30.563" ol
[0} =
O
2.000" o ell*
w Q9
9
£
©
s
(0]
[0
(&)
[79)

03/13/2019
Firm Number: F-2183

Date:

o

2 O

gl |8 s 0

3|5 |8 5 Oc
3|5 8|6 )

Compliance Office Stamp

Sheet No.
10 Of 12 J




6.000"

0.500" TYP.

p—

3) @0.563"
(3) O O

1.000"
15.000"

/3N 15"LONG 4" X 6" X 1/2" SHELF ANGLE

3.000"

1.000"

Firm Number: F-2183

e 1.250" 1.000" 5538 N
0O
= :C) E§ —_—
g S 0¢
< - =
-
O © 03
£9
. o
3 38
et =
o
S
0.375" TYP. = 1.000" 1.000"
B -
¢
o O 3
. = = 2
:
X 4) 20.563" Q 3
. © O O £z
SO ™~ 93
=TT OF Ty B3 5&
"A’."4J,11 o~ £~
% * l) v O
.*) 5
5 A W L7/ ( +t o R x4 a
3500 JGUSTAVE L. SCHMOLL 2 £
7N 4'LONG31/2"X 6" X 3/8" CLIP ANGLE 124202 ‘3—/% o
0. a
— e
N\S g
4.000" 03/13/2019

Date:

o

2 O

gl |8 s 0

3|5 |8 5 Oc
3|5 8|6 )

Compliance Office Stamp

Sheet No.
1 Of 12 J

NI
N\




NI

0

NI

S

1/4'20 X 1" HH BOLT 5N

NI

§mmisn 0

1/2"-13 X 2" HH BOLT (N 1/2-13X21/2"HH BOLT

NI
N\

NI

NI

4,000 4.000 } o¢
s — i B
£9
=) 3) @0.563" =) 4) @0.563"
g Be @ Q Q g 4o @ Q Q Q
2 2
3 = 5
) 3
5
0.500" TYP. 0.500" TYP. kS
1.000" 10.000" O.C. 10.000" O.C. 1.000" 1.000" 8.000" O.C. 9.000" O.C. 8.000" O.C. 1.000" O 5
22.000" 27.000" A £lle
N off@
o g2
Lo of|
/3 22'LONG 4" X 6" X 1/2" SHELF ANGLE /%N 27"LONG 4" X 6" X 1/2" SHELF ANGLE % §
[0)
N N :
Y
0
......................... /
GUSTAVE L. SCHMOLL 2
124202 .o /5
&E
LICENSE NS oA
ONAL_EX2S" s &8
S\ z O
03/13/2019 2 f CED 5
= Firm Number: F-2183 . g [ 2 oz
U:> ﬂl:> g % 38 g A
Compliance Office Stamp
/o #8X5/8'SD PH SM SCREW /2N #10X1"SD PH SM SCREW 7w #12X1"SLHWH SM SCREW

Sheet No.
12 Of 12

J




		2019-03-13T13:20:51-0500
	Gustave Schmoll




